MHF4U1-ASSIGNMENT CHAPTER 2 NAME:

K: /60 I: /28 C: /16 A: /8
Multiple Choice [K: 20 marks]

Identify the choice that best completes the statement or answers the question.

_éL 1 |. Which of the following is the reciprocal of a linear function?

= 3 C. X
KX)= 2 f(x)=_
x+1 x+3 -~ reciprocal - 9(+?>
b. Ax) = 1 d. A2 l/
x2+l w2 (\Xigr/ lL,’Lu-»e WL:l/ b=3
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‘ —\7— 2 | Which of the following is the reciprocal of a@u_ag;atic_functi_o_n? 2
e S —— X p o(-&’:jq‘e{f. 2

a. 1 C. x
=g =2
b. %) = d. none of the above
/

A 3 |Which of the following has a horizontal asymptote at y = 0? "
*

i B
a. 2 —_—
f(X)-—l-— LS D «s xvg - f(x)=_L "'}_—_3? - ey X=—» W
3 xX+2 x ' =

d. all of the above

- [r-'—~ le v "] L F

b 4 Whatistrueabouttheﬁmctionf(x)=—l—asx—;——/?
3x+5 3 »
a. flx)—>0 c. fix)—>-o f(t)

b. fix) >co d. fix)isundefined /o)

1
i S5 | What is the x-intercept of f{x) = L ?

3x-4
a 1 3 . c. 1
i 34 i
b. 4 Paesi FODL... d. There is no x-intercept.
3 A horigontel cosqup loke

exdrs  wstead .
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What is the y-mterriggt of the function fx) = L 1? y=cmn ¢
a. 2 X=C c. 1 = e l i
b. -3 5> d 0 2 "”
=2
i L
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What is the equation of the horizontal asymptote of flx) = “Sxr 10 ¥z mo T
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a. y=10 c. x=0

b. J?=5 d. x=35 =

H Lrﬁ'h,wp(%"( o 1:0

What is the value of k in the function f{x) = kk if its graph passes through the point (5, —0.35) ?

a. 10 ¢ 13 X=8& y=-0:>F
4 _ _3-k 3K
- ' 205) +le (@ +le
b. 47 d. Nosuch k exists (~0-35)104) = 3 -I<
6 ~ 3,7 —O.3%k =3-K
K-&-%5c =34 3.§
. L - &Sl 265
Which functlor; is always positive? = \p
a. c
&) =5y f(x)=x2+4
‘Lx(n-—\ be oy =
erase T8 Spuned S alim, poys
b, gy d. BandC % b B
(x —4)2

X-H Ean be kng Jop] = 5 bt because S ‘kctdv(cl, TEs nb.(rs Foe .

1
Which function has a y-intercept of =?
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. x) z/~ (c,z) PN P - gy - SO | .
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ﬂx -‘)(l) d. all of the above
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What is t bout the functi =- , 172 R
at is true about the function fx) e as x — Hx) (x«l)Cx—\)
a. flx) — 0from below c. fix)—eo - ( Se Ay >4
Ny tht— e
b. fx) — 0 from above d. flx) = —co C

Z...zé hu-s M“—‘ =

posi Hive




Over what mtcrval(s) is the_ aph of the rational function decreasing?

c. x>lL,x=4
d x<-2,-2<x¢<l

(03)

Which function has a y-intercept of %?

b. e . 2 _ . d _
a7 S R Ax) = 3x=s
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_5 15 WhlchﬁmctlonhasaUasymptotcatx-3”1—k¢,+l~¢ denewinaton wmd equal T o O.

. ﬂx%> EBrL 0 ﬂ)}%
b. x+3 2 g 2

=0
B
i 16 | What is the cquatlon for thq@z_qtl@l asymptote of the graph of the function shown?
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a. x<-4 ¢ ¢ X<4x>1 )
b ox»i & T xeRx=—-4




x—4
2x—6
x>0

Where is the function fx) = increasing?
2x-¢ =0
Vet Ass yuepheie ary=%
Cloese velues [edd oF x=3
Z)f(g‘): %
g[(() = '% X

Hz) = ¢

a. x=24,x<3 C.

b. x%3 d xeRx=3

ot

2x+5
x+3

& We s
b 5 : L
j(x)/—)iffrdm/below

What is true about the function f{x) = as x — co?

c. fix) = 2from above

2 T d. Ax) — 2 from below
= 7_§_- 2 ws x—» A \/—PL

3
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Clheese velues
be He cqt

3%4):0

HL35)= 3.7

if its graph passes through the point (2, 4.2)?

(q‘2>—_ 2(2) s+ <
| 2 +3
(a2)(s) = d+ke
7-(.0 =“t+k
K= 20-4= |3

2x+ k
What is the value of k in the function flx) = %
a. 21.2 c. 17
b. 6 d. none of the above
1 5 X=5C(x-4)
Solve the equation —— = —. X = Sa-2eo
x-4 x
= 20 =5%-X
a. x=-1 it XxXe 20 = 4 i c. x=-5
xs §
b. x=5 d. nosolution
RN
Solve th ti i B N\
olve the equation ——= = 7——=. \
a. X=2 BZHX'B) - ?C¥_z) X=_2
b. 4 VRN sSN = TER 1Y no solution
b R -Fx = ~lda TN BUT‘-
x _‘:LO‘/
2
4% - -3
What are the x-intercepts of the graph of flx) = x;—x - 9—'9—‘74)
— x-x- (x-){x44)
a. 4,5 c. 4,-5 L35, -4
b. -7,3 d. 7,-3
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For what values of k does the graph of flx) = ]{Tﬂ have no x-intercepts? ~ bt Jo=
x+7x Fon @#kf Sl
a. k>64 c. k>4 )2 CArF)
Tﬂ L',ol._ e 2
b. k «gd d. k<4 < hreap bz Hac < O
16*-4kk ¢ ©
2%+ 2 2 + 2 16> < uk
Use the graph of fix) = —s—— to solve the equation 0 = ———.
grap A2 ?};f +>11A32”_‘ - a 7 + 1127 k>ék
<
a. x=-1.5 c. x=10
b. x=-1 d. no solution
+4 +4
Use the graph of fix)= —3to solve the inequality —3 <0,
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a x=-4 @ <k <3
b. 4<x<3 - d. no solution




Matching

Match each gmph of a rational function with its equation. -t - 2
2x - l 0
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a) XXx*%0

-6

- = —_

;«|:17 >

X = ~b(%x-4)
K = —bx+2M
Fx =2H

24

x=3

—33) \/’A' ot ’X:-—'L £ ,/“)‘) 4

X% 30

p) X485 . Zae?
x-3

w

X(x+8) = (xF)x-3)
K-S x = 2“2“)“;‘_2‘
O = 2x-bxs Tx-20-52-5x
= 262-x2-bx¥Fx-Sx- 2|
R - - 2|
= (x -7) (x+3)
Xx=7 -3

C> X2
5. W
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3x-b = Bc~1C
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X=2
Ne Sc(,u,‘-.,\ah_

. di
-
A peets 4B | ypiak 4n12 ek (ol o
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a) -S_Kn\- < e>o
& V&) v>o
Te /’;./
o] ch.{ - = =
lanbon o U/ €(v)

¥ W)z A URO

b> HA at t=-0o | ’(F
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37. Write an equation for the graph of the rational function shown. Explain your reasoning.
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38. Determine an equation in the form flx) = d for a function that has asymptotes with equations
3
x=-land y= a and a y-intercept of 2. Sketch a graph of your function.
_ axsb .
Hx = o @it VAs o xz— B o e
HAs o) y-2 e =
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Se o . =\ , \/3{ ] /
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